(]
H Illed INNOVATIVE DESIGNS
h FOR CREATIVE SPACES»

Tools Required for Assembly:

W-Series T-Leg Table

w/ Wire Management
Assembly Instructions

» 3/8” Ratchet with 3” Extension
e 9/16” Socket and 9/16” Combination Wrench

» Philips Head Screwdriver - OR - Cordless Drill with #2 Phillips Bit

Included Parts and Hardware:

4 x 3/8” Hex Bolts 1%4” Long

4 x 3/8” Hex Nuts

4 x 3/8” Lock Washers

2 x Leg Uppers 2 x Leg Bases

— M [

4 x 3/8” Flat Washers
NS

4 x 1/2” Pan Head Phillips Machine Screws ((((((((&(@

8 x 3/4” Phillips Head Wood Screws 4@@@

1 x Stretcher 1 x Table Top

Step 1

Place the table top-side-down on a soft surface to
prevent scratching. The flattened shipping carton is
ideal for this purpose.

Pre-assemble the T-Legs by sliding the black upper
section over the chrome base. Set legs to the desired
height (remembering that the top will add 1-1/4”).

Secure with two Phillips head machine screws.

alliedusa.com

~——— Top adds

— 1-1/4”
Leg Upper . (
L)
Phillips
Machine
Screws
o g Set Leg
\’v g Height
Chrome
Leg Base
~—

For customer service call 800-999-0386
R012022



W-Series T-Leg Table

Assembly - continued

Step 2

Insert one end of the stretcher into the notch at the
top of the leg assembly.

Install bolts with flat washers through the leg and
bracket, then finger tighten the split washers and
nuts.

Repeat for other end.

Step 3

Position the assembly over the pre-drilled holes in the
table top. Install all 8 Phillips head wood screws
completely. Complete assembly by fully tightening the
3/8” bolts.

Proceed to Wire Management Panel Assembly.

alliedusa.com

Notch In
Leg Upper

Stretcher

3/8” Bolts &

3/8” Nuts & Flat Washers

Split Washers

Phillips E
Machine Y
Screws

Pre-Drilled
Pilot Holes

———
o

Hllled INNOVATIVE DESIGNS

h FOR CREATIVE SPACES.

R012022

For customer
service call
800-999-0386



L
Hllled INNOVATIVE DESIGNS
h FOR CREATIVE SPACES»

Tools Required for Panel Assembly:

Wire Management

Panel
Assembly Instructions

Hardware Included:

* 8" Phillips Screwdriver or Cordless Screwdriver
with 8” or Longer Extension and #2 Phillips Bit

e 7/16” Socket and 7/16” Combination Wrench

10 x 3/4” Phillips Wood Screws

4 x 1/4” Hex Bolts
4 x 1/4” Hex Nuts

Step 4

Attach the Wire Panel’s end caps to the
center section using four hex nuts and
bolts. Be sure all mounting flanges are
on the same side.

Tighten nuts fully.

Access holes for long
Phillips screwdriver

Pre-Drilled
Pilot Holes

alliedusa.com

Step 5

Attach the assembled panel to the underside of the
table top using the 3/4” wood screws. Align and
fasten the tray using the pre-drilled pilot holes.

* Do not use the keyhole shaped holes.

With a helper, turn the table right side up and enjoy
many years of sturdy, reliable service.

Mounting
Flanges

Table Top (underside)

For customer service call 800-999-0386
R012022



